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B EREH(= 254%) 32. %

BE AP
26. % 511 £FAF? 1A HEE ( Sequential Search ) &F45 % - 2V
EFEHEF B BWE ST UBI TR H H ‘
(A1 (B) 9 (C) 256 (D) 511 >
27 & 511 £FHE S » 4z AfFE ( Binary Search ) 455 - £ F 12345 t (ms)
PR G RO B AT UL IITHY ek W9FE 2 A7 0 31 i (Duty cycle) 3 2
(A1 (B) 9 (C) 256 (D) 511 (A) 5% (B) 25 % (C) 50 % (D) 75 %
28. int bsearch(int b[], int Key, int low, int high ) 33. PN - &8¢ 99 # 7 i (Drift current)?; = ek ¥l i #°?
{ (D PAFENURRFTPERT P
int middle; B) P A% N AUR{T ef 837 b
while ( low <= high ) { (C) Z 4 ®I f AT N 3
middle = ( low + high ) / 2; D) zLEH IS
if ( Key == b[ middle ] ) 34, hot BT 2 TR Fng s (Zener)Z B TR 5 P2
return middle;
else if ( Key < b[ middle ] ) 2 kQ
. . NN ® +—O
high = middle - 1; B
else g V+—— 3V
| low = middle + 1; T Zener‘/ 10 k.Q§ Vo
return -1; . ._0_
}
%4 - BEFHELS] int n[10]={3,5,7,9,11, 14,17, 33, 44, 50} ; »¥ ¥ & 3 (A) 0 A(B) 0.3 mA (C) 0.5 mA (D) 0.7 mA
bsearch(n, 44, 0, 9) %% 44 - 3K while it BIp 54y £ middle = 35. +10V
(lowthigh)/2; € 3417 B = ?
(A5 (B4 (C)3 (D)2
29. ¢+ &g > »¥ el 3 bsearch(n, 13, 0, 9)m & key 13 > while i B]p 16{2;) 2 kO
ehip £ middle = (lowthigh)/2; § 7B = 7 § C2
(M2 (B3 ()4 (D)5 Cl I—OVO
30. K+ %& > =l 33N bsearch(n, 55, 0, 9)# % key 55 > while i B p 1 O_i
ehip £ middle = (lowthigh)/2; § 7B 7 ' I_’
(A)2 (B)3 (0)4 (D)5 3.3 kQ)
31, ¢ dv- B4 5200 BdcE2 T grs A SRR H Y - BECE > PlB S 3 R,
£ A= ?

(A) 9=x (B) 11 & (C) 13=x (D) 15k -

do b BHT 2 TR B ERET HHMBIT)2 =99 Ve =07V >
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36, TAIFR- fAEE A BLE L R REE R T@ﬁ%ﬁ"ﬁ%ﬁ? (B) {1002 = C, 1003 = B, 1007 = A}
(DEed B B Y4 (OWeb @IRE (D)DSL #edh s o (C) {1007 = A, 1001 = B, 1003 = B, 1002 = C}
37. C (D) {1007 = 4, 1002 = C, 1001 = B, 1003 = B}
43. £ T Java 423t R B P AT FE?
S T o T 0 T 0 class MyThread implements Runnable {
cix LI S > S S private static AtomicInteger count = new AtomicInteger (0);
KD BT Ko Ko public void run () {
] | | int x = count. incrementAndGet();
Y RAcr BT TR EF BRF Baut BEFR L 30ns 0 BAEF e B pF System. out. print (xt );
B % 80ns o IR~ CLK % Bpm i 5 Hiz? }
()3 MHz (B)4 MHz (C)5 MHz (D) 6 MHz } and
38, 4 R Thread threadl = new Thread(new MyThread());
:%' | ) N Thread thread2 = new Thread(new MyThread());
Thread thread3 = new Thread(new MyThread());
j) . Thread [] ta = {threadl, thread2, thread3};
B > 7 ) for (int x= 0; x < 3; x++) |
ta[x]. start(); }
— /5 (A) The program prints 1 2 3 and the order is unpredictable.
N P ﬁ%”iﬁi TET Y g 2 9 (B) The program pr%nts 12 3.
WAAE BFAE (52 F 0)*9F o proaran prints 11 1
o , o v compilation error occurs.
39, 4 = & 101000 2 2 Hviddcs 02 " ﬁuﬁymjzvaﬁﬁ e
(A)010100 (B)011000 (€)010111 (D)101000 _ S B
40 T h- i fgE K LFE ﬁ%51 Q B2 ddn® s 0o EppF J=1 0 K=0 ?ubllc static void main(String[ ] args) {
Tk gd 1S 00 R Q BEN R ? int x = 20;
(ML 1 B)AEFO(C) 1 & 0 28| (D) 53 e3Fhi int a = x-=2;
41, T FIM 5 1 (Multitasking) (v 4 & sebcit ¥ o o 45382 int b = x+=2;
(A)% & 4 #42(Scheduling) shit 4 - int ¢ = x/=10;
(B)¥ 2 * 4 p(Time Sharing) o it & o int d = (a>b)?a:(a>c)?a:(b>c)?b:c;
(C)F% & 3 T {7 mZ(Parallel Processing):fic 4 o System. out. println(d);
(D)F & ¢ ErpaLing 4 o
42, ¥ T Java R P EREE S RO }
Map<Integer, String> books = new TreeMap<>(); (A) 17 (B) 18 (C) 19 (D) 20
books. put (1007, “A” ); books.put (1002, “C” ); 45. o linux k3¢ o THR- gmgp £ ok kez g Software RAID ?
books. put (1001, “B” ); books.put (1003, “B” ); (A) mkfs (B) mdadm (C) pvcreate (D) fdisk

System. out. println (books);
(A) {1001 =B, 1002 = C, 1003 = B, 1007 = A}



46.

47.

48.

49.

50.

40T Javadg i BB ’ﬁﬂll L ?

public static void main(String[] args) {

int num = 5;

int sum = 5;

for (int 1 =30; 1 > num; 1 /= 2) {

sum +=1;

}

System. out. println(sum);

}
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Boot Loader * B {§p% € i B-cin k Sifnow 5 7 59— 3F ?

(A) /boot/kernel (B) /boot/vmlinuz

(C) /boot/system (D) /boot/initrd. img
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THVR- g s TR F R TR ¥ v— B Run Level ?
(A) level (B) run level (C) telinit (D) runlevel
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(A) swap (B) /tmp (C) /var (D) /usr
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